EAGRAROBREERT — 2 N— ABISH —F

202057H138 (B) SEIEER2H

Sl C 2 s 4 5 R—i EEDE IR
[AE4£] 1% :250,000 ™ ~ 23#%&:70,000 33 :40,000” . 43&:25000MH . 5 73#&:15,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
JES i 4 | BEAB 1:26.6 1-1 37.8| — 4 460 | =EEE (KR)
1 2 U 5.0 (-) (-4) (%) 777
LNn—ErTv— BALYTa—L4 (B) HA-FRL—-ya>BagEI7
SR BAARISTE :27. — . — BAAIES] (KiR)
21717 H/ VIV v KL * 7 *50.0 (12217/20) 66 52 6 :,618) /T\%%i(
:y07% B:h/ Y by TLTFa BN
N 4 4 | EBRE 1:27.1 2-2 37.9| — 2 430 | fE<ARERI (KR)
3|55 7ARE—L 54.0 (3/4) (-3) |EAAE
R:¥oin140— B:57E—L L3
= SHLA B 6 | BINIE 1:27.3 4-4 37.9| — 7 419 | ZH=ZE (KR
4 6| 7TIV¥ AL A3 54.0 (3/4) 1) HIEIES ’
R:2Y94 7 bHLEN B:i3ary— HBET7—L
N ISV :27. - . — HEES ()
5 3 TYeh—% 5 o 1(727t§ 5-5 37.7 3 (4333) RER
¥ AR Bray3orA4y—> BSlite
RS f 6 | ILAEEE 1:27.4 3-3 38.2| — 1 480 | BWE— (KiR)
611117~ KHTZ 54.0 (3/4) (3) | BRET
gL FS 0 ML BT RIAYF1T e g
S 47 | BIEBERER 1:27.8 8-8 37.8| — 5 436 | 4 AREARI (KGR)
] 4 NIV —=Ib 56.0 (2 1/2) (-4) RABE—
L:7V>FFE2T7e BTz T4F BB
s - = R $5AKh : — — TEERZE (BER)
glglg|IATU—FEUL> 6 s 1(72{:? 6-6 38.0 8 (4390) Rl
LY LTAN—t B:/—TINnZ— g E
@ 1—F—@&BIEf
12—7-
23—7F—
33—+— |2,5,1,6,3,(7,8) .4
A==k — 2,5,1,6,3,(7,8) ,4
[ RN
B OB 2 830M 714K 2-7 1,270H B = 2-7 4,360M 3ER 2-5-7 7,390
1 B 2 250M 2-5 560 B H 2-7 8,380 JEH 2-7-5 58,160
7 410H 5-7 740
5 200M

ARICOVWTRDTEEERROODE. TR LI,




